FERNZ / Components
No. # ¥R / Part name #=E / Pcs #ME / Material - RE AL / Color-Finish
1 |IL—L 4 T ILSIRH A A6063S-T5 DIWIN=TILRAb, TF9ITILIA
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 |a—F—7Jnvy 4 ABS#ifig UL94HB SANTL—, TFvY
Corner block ABS UL94HB Light gray , Black
3 |a—F—Fvvy7 /Blind plug 8 ISRLY / TPE SANTL—, TFvY
Light gray , Black
4 INAIAFHIRFIL / Slide panel 1 7 JLZE#R / Aluminium A1050P t=1.5 AT 5L ILIN—TF LAk / Silver * Hairline brushed & Anodized
7 ILEHR / Aluminium A1100P t=1.5 TS5y « %L / Black = Painted
5 RCIEH/NHRIL / Screwed panel 1 7 LR / Aluminium A1050P t=1.5 ATSAY)ILIN—TF LAk / Silver = Hairline brushed & Anodized
FJLEAR / Aluminium AT100P t=1.5 | T 5w% - % / Black - Painted
6 |EfFTER (M4 x 15 FX) 16 #* =fEyniA—tk
2 Screw (M4 - 15 Pan head) Steel Trivalent chromate
g 7 |ERATER (M3 x 5 EEAFL) 8 % ZuhLAyE  ZlRIAA—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
8 | /"KL / Carrying handle 1 TILEIRH A A6063S-T5 EZRBTSVIT LA LFRMDILA—T LA
Extruded aluminium A6063S-T5 Silver , Black = Anodized
9  |BATER (M4 x 10 FNSW{F) 2 % =ffiyRit—k
Screw (M4 - 10 Pan head with spring washer) Steel trivalent chromate

3
5
2
4
7
1
6
f
fn4a/Title
\ J TAKACHI| #HXS#HShFEHRIE NURLavka—ILRYS R © |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CONTROL BOX with CARRYING HANDLE
@,&ﬁ(*”%iﬁ%lﬂ) 7 Golor Type(End of product number]) R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
k(2=
585 / Code | /S#%JL / Panel | IL—.Ls / Freme| 3—7}— / Corner I\>KRJL / Carrying handle FCH10-40-400]
GS < JLiN— / Silver < )LiN— / Silver SArJ'L— / Light gray < JLiN— / Silver x iR - 1/5
BB IS4 / Black 54 / Black 594 / Black 5% / Black fERE/Date  2017/06/20




TL— L3148l / Frame3 side

29.7

400

JL—L 18] / Framel side

400

126.5

< B

e i

1/

A : A
|
|
|
i [ | | |
V) ' =
l<— B
JL—L248] / Frame2 side
] [1m
A-A(1:5)
INARAFHINRILEFZNT % / Slide panel MAX dim. 360
E~ti% / MAX dim. 354
N
@ ® ™
©

LD/ NRILEZhTi% / Screwed panel MAX dim. 354

L —LAl / Frame4 side

100.4
13

<ti% / Slide panel MAX dim. 360

h

INPAHINRILE

B-B(1:5)

Bxh~TiE / MAX dim. 354

E#~Ti% / MAX dim. 94

HUCIED/SRILEZNTiE / Screwed panel MAX dim. 354

C: 7L—LIY5KE / Frame cross—section

(&

FvkL—JL / Nut rail
ASARFyRiE

AFTA T avh RSARF Yk FZ-3 EANZENEEFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
NURIILFayka—LRY o R
CONTROL BOX with CARRYING HANDLE

o]

A& 8/ Approved

1% [X|/Checked

£

#IX/Created

iR

R /Product number

FCH10-40-400L1

RFE/Scale
1:5

{EBL B /Date 2017/06/20

2 /5




18.1

18.1
8.7

8.7

19.7
4 13.7
8 82 ~
< - <
8 29:
- 1.8
5.7
®
=7
0 ™~
< ¥
9 13.7
22.7

FvkL—JL / Nut rail

99.4

4-M4

81.74

JL—.Is1 / Framel

2-@¢45

JL—L2 / Frame?2

354

120

_
4 /Title
HRARHIHTERTE JL— L1, 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel , 2
7&Z2/Approved | #&E/Checked #IX/Created | E!Z/Product number RE/Scale
H100.4 — W400 13
£ thig s s

{EBL B /Date 2017/06/20




18.1

18.1

8.7

8.7

19.7
4 13.7
3 82
5 T Y
g :i
- 1.8
5.7 p
D
4
=
0 0 ™~
< N i’
9 13.7
4-M4
22.7

FwkL—JL / Nut rail

2-M3

344

81.74

L —.L.3 / Frame3

JL—.L\4 / Frame4

—

fn4a/Title
BRRMIHNFEHTE JL—A3 . 4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3 , 4
A& 55 /Approved %X /Checked #1[X]/Created FIF /Product number RE/Scale
H100.4 — D400 13
F iR 4 s
YER B /Date 2017/06/20




INAAFHINAIL / slide panel

Exh~ti% / MAX dim. 360

B3T3k / MAX dim. 360

15

fREES —MA

Surface protective film side

NV SAVFRE
Btk GS DH

/N2 JLRE/Panel Frontside

RC1EH/NR)JL / Screwed panel

B#Ti% / MAX dim. 354

i

Bah~t% / MAX dim. 354

——

/I\FJLERE/Panel Frontside

Hairline brushed direction.
Color type GS only.

ReE— MM

Surface protective film side

NTSAV AR
BitEk GS DH

Hairline brushed direction.
Color type GS only.

| 371.9 |
= |
|
|

5 1 _ _ _ _ _ _ P
|
|
/I\NAJLEE /Panel Backside
3715
8-24.2
H‘— - 172 172
S = +
®
it 4
®
£ —o—
/\AJ)LEE /Panel Backside
A /Title A —
TAKACHI| #RXeitshFEHMITE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7R/ Approved & [X]/Checked #UX/Created #1% /Product number RE/Scale
W400 - D400 4
X iR 5 /5
e B /Date 2017/06/20




